Partial Depth Side Panel
n“IT Part Number(s) : SPSPNL*

© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029MY

Jool List: .
* 7mm Socket

S-Type

/ Cabinet Frame

1T L Partial Depth
16 1 ] . Side Panel

Partial Depth
Outside Panel
Qty: 1

Partial Depth
Inside Panel
Qty: 1

M5x0.8 x 10mm
Hex Head Bonding Screw
Qty: 8

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 1 of 4



© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029MY
Right Hand Installation of Partial Depth Side Panel to Side of the Cabinet Frame

* Install Inside Panel to bottom of the right side of cabinet frame using (3) M5x0.8 x 10mm Hex Head Bonding Screws.
« Install Outside Panel to top of the right side of cabinet frame using (3) M5x0.8 x 10mm Hex Head Bonding Screws.
« Connect Outside Panel to the Inside Panel using (2) M5x0.8 x 10mm Hex Head Bonding Screws.

M5x0.8 x 10mm R S
@ Hex Head Bonding Screw_:

2 places DG

M5x0.8 x 10mm
Hex Head Bonding Screw
1 place
Install thru the 5th cabinet
post hole from the bottom.

posthoe from he
"4

bl Fronto
""""""""""""""""""" Cabinet

1
M5x0.8 x 10mm I

Hex Head Bonding Screw \
|

1

1

;/ 2 places

0‘\

o

-
M5x0.8 x 10mm
Hex Head Bonding Screw
1 place
Install thru the 5th cabinet
post hole from the top.

o

i
1
|
1
1
|
1
1
|
1
1
|
1
i
|
i
i
|
! o
1
|
1
! ©
~ |
o ~ 1 0
1
| °
2 |
i 0
|
| J S N _ 1 ®
i
|
i
H o
|
i
! °
|
1
1
| o
1
1
|
i
i
|

_____ N 1

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 2 of 4



© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029MY

]

[

i | ! Connect the Panels
L

i !
' I
i :
: |
C :
' I
! i
i :
M
Il together by installing C :
2 @QMx08x10mm e N4
11 Hex Head Bonding Screws ! '
' |
i :
sl
| :
| |
| :
' |
i :
' |
i :
) |
i :
|

11 in locations shown for your
] cabinet height.

8

® M5x0.8 x 10mm
RV ~@<«+—Hex Head Bonding Screw
I(::robn't 0: Rl ] 2 places
apine

Left Hand Installation of Partial Depth Side Panel to Side of the Cabinet Frame

» Install Inside Panel to top of the left side of cabinet frame using (3) M5x0.8 x 10mm Hex Head Bonding Screws.
» Install Outside Panel to bottom of the left side of cabinet frame using (3) M5x0.8 x 10mm Hex Head Bonding Screws.
»  Connect Outside Panel to the Inside Panel using (2) M5x0.8 x 10mm Hex Head Bonding Screws.

® =
e 5 !
| M5x0.8 x 10mm
i Hex Head Bonding Screw
! 2 places l
| e
i ’ ° /'/‘ !
1 |
| Je |
: a0
i o |
| | : |
: 1 ° |
: ! . !
! i : |
| i SN Y ] ' !
: M5x0.8 x 10mm . |
" Hex Head Bonding Screw ° !
| 1 place ’ |
! Install thru the 5th cabinet Sl ;
| post hole from the top. . L@ i
~" Front of din |
Cabinet 1 | I i

For Technical Support: www.panduit.com/resources/install_maintain.asp

Page 3 of 4



© Panduit Corp. 2017 INSTALLATION INSTRUCTIONS V00029MY

M5x0.8 x 10mm
Hex Head Bonding Screw

S o 2 places

. i \
| M5x0.8 x 10mm T -T_“—_:_—i
| Hex Head Bonding Screw i d R
. 1 place i R !
| Install thru the 5th cabinet 1l . i
' post hole from the bottom. . i
I i
R B |
I D | o :
: el o
| : i
: T ' * !
| - 0 i 0 !
i 0 i ¢ ) !
| : i : !
1 | 0 |
- < Q | 1
{ | 5.4 I
0 I o !
Q‘N i ' - !
J@ ; ' |
__________ - Qi JSo, ° | - i
002 . 0 !
oo r | ; |
' 0 T P S

L_

g

3) e
o I
o
M5x0.8 x 10mm  — @ ([N %
Hex Head Bonding Screw ! !
2 places ' ' Connect the Panels
| together by installing
! 03 (2) M5x0.8 x 10mm
! L/ "% Hex Head Bonding Screws
| | in locations shown for your
' ' cabinet height.
! b Ny
| $ _______________
s’ : |
i a |
g b e : |
S {
Y Front of
beomcddo Cabinet
e o PaNDulT rmon Bt cam

duit Phone:
www.panduit.com/resources/install_maintain.asp www.panduit.com 866-405-6654

Page 4 of 4



